DRLat[ 44 |deg. [ 3050 |min. [ N |
SightNumber [ 9 |  Body| SPICA | Limb[ NA | TabDec| 12 |deg. [N ]
DRLo [ 73  |deg. [ 1550 |min. [ W |
Date & MeanTime @ Greenwich Declincr|  12.70|min.
Total GHA | 75|deg. [ 18.70 |min.
Asm (Tab)Lat [ 45 |deg. [N ]
Asm Lo | 73|deg. [ 1870 |min. [ W |
d[_ 59.94]min. DSD[__ 0.01]min. Z diff[__ -0.09|deg. Dec and Lathave [ Same |Names
Tab LHA :deg.
di1 Corrmin.
Tab He| 56|deg. | 57.34 |min. -
Data needed for checking back of
2 in. TabZz 176.41]deg.
Yotal Gore 7258 Jrin 42 Corr BB min USPS SR ED 96b Form bz 17641jdeg
’ ) & CLS 98 Plotting Sheet
DSD C . . - . zc deg.
Hel 57ldeq. | 1003 Jmin orr E001]min Sight Reduction -- Intercept and Azimuth ot -0.02]deg
TotaICorrmin. e l_)y H.O. PUB. NO. 2_29 R I zZ[ N ] 17639 | w |
Ho| 57/deg. [ 40.50 |min. Sight Reduction Tables for Marine Navigation

AP to HO 229 LOP di [ 30.47|n.mi.[ Toward | Zn[ 183.6 |deg.

=
F

ile of HO 229 Table Excerpt N

ded for Solution

Intercept - LOP Crossing Lat | 44| [ 2057 [ N ]

2° LHA

Intercept - LOP Crossing Lo | 73| [ 2085 [ w | 358 ° LHA
DR to HO 229 LOP Distance [ 1.13 _|n.mi. [ Toward ]
DR_EP Lat | 44| [ 2937] [ N ]

Tab Dec
DR_EP Lo | 73] [ 1558 [ w ]
Click on this box to solve for
This Worksheet requires the Excel Solver Add-in to calculate values for DR_EP Lat & DR_EP Lo DR_EP Lat & DR_EP Lo

Declination and Latitude have Same Names
45 ° Latitude
Dec® Hce Hc' d z°
10 54 57.46 59.94 176.57
11 55/ 57.40 59.94 176.49
—_—> 12 56, 57.34 59.94 176.41
13 57| 57.28 59.93 176.33
14 58| 57.21 59.93 176.24

HO 229 LOP

Asm (Tab) Lat

DR Position

DR Tract Asm Lo

Note: Diagram only illustrate the relationships of the various parameters and not the actual values of the various parameters

Different Orientations of the Navigational Triangle

LHA more than 180° : Zn= Z
(Z=N100°E : Zn = 100°)

LHA less than 180° : Zn = 360° - Z
(Z=N100"W : Zn = 260°)

Pa IN NORTH LATITUDE L

e
[L

\7

Equator k ’ 3::;;:"‘5 Equator
Observer's Hour Circle
Hm:' Circle Meridian of Body

LHA more than 180° : Zn = 180° - Z
(Z = $100°E : Zn = 080°)

LHA less than 180°: Zn = 180°+ Z
(Z=S100°W : Zn = 280%)




